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23.1,6 x 10 MeV Q4. 1,0086636 u 25.7,92 MeV 26. a) 1o
27.280j 28.3,0 x 1019729, a) 7,53 x 101®Bq b) 4,91 x 106 Bq
30.2)4.8 x 10718Bq b) 4,6 x 10%a 31.2) 64,2 h b) 0,125
) 0,0749 32.a) 5,04 x 1018 b) 4,59 x 10° Bq 33.5,33 x 102
34.265 mg 35. a) 2,03 x 1020b) 2,79 x 10° Bq 36. a) 59.5 j
b) 1,18 37.209 38.87,9mg 39.1,13 x 10! a 42.0,658 ¢
43.2) 8,88 x 1019 Bqb) 8,88 x 1010Bqc) 1,19 x 101d) 0,111 pg
44.2) 3,66 x 107 Bqb) t>> 3,82 j ¢) 3,66 x 107 Bq d) 6,42 ng
45.0,073 m2 47.Pu:3,1 x 10717, Cm: e 1% 2 0 48. a) 4,25 MeV
b) —24,1 MeV ¢) 28,3 MeV 49. 4,269 MeV 50. 05 = —9,50 MeV,
Q4 = 4,66 MeV, 05 = —1,30 MeV 51.a) 31,8 MeV, 5,98 MeV
b)86MeV 52.b)4n + 3,4n,4n + 2,4n + 3,4n, 4n + 1,4n + 2,
4n + 1,4n + 1 53.7Li 54.2) 0,90 pm b) 6,4 fm ¢) Non d) Oui
55.1,21 MeV 57.0,783 MeV 58. 0,600 MeV 59. b) 0,961 MeV
60.b)2,7 x 103W 61.783 eV 62.1,61 x 10°a
63.2) U: 1,06 x 10!, Pb: 0,624 x 10" b) 1,68 x 10!?
€) 2,97 x 10%a 64. 132 pg 65.1,7 mg 66. 145 Bq = 3,92 nCi
67.1,02mg 68.7.3 mSv 69.0,0137 70.a) 18 mJ
b) 2.9 mSv = 0,29 rem 71.2) 6,3 x 1018b) 2,5 x 101 ¢) 0,20 ]
d) 2,3 mGy e) 30 mSv 72. a) 6,6 MeV b) Non 73. a) 130, ONj,
92M0, IMSm, 207Pb b) 40K, 9'Zr, ‘3‘Sb. 1-13Nd c) BC, 40K. 49Ti,
20571, 207ph 74. a) 25,4 MeV b) 12,8 MeV ¢) 25,0 MeV 75. b) 1,00
¢) 70,8 d) 0,010 0 e) 0,708 f) Non 76. 0,49 77.9,0 x 108 Bq
78. a) Désintégration béta moins b) 8,2 x 107 Bq ¢) 1,2 x 10°

fl[ W7 b) (7 x 107)9—(1n ZMWW

ctuelle/80. 3,2 x 1072 Bq = 86 Ci 81.Ac 82.4,28 x 107 a

83. 1013 atomes 84. 1.3 x 10713 m 85.7.31 MeV 86.3,2 x 10*a
87.4,9 x 101 Bq




